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What are the units of power in different unit systems?
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If the mass of a string of 1 m length is 0.3 g and its tension is 48 N, find the fundamental ( the

lowest ) frequency of the string.

I=1m, m=0.3g=03x10%kg, T=48N oledSi
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A magnifying glass of focal length 6 cm is used to produce an image which is two times the
size of an object. How far must the magnifying glass be placed from the object?
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s'].e@of: f =+ 6 cm (convex lens with short focal length),
m = +2 (erect, virtual)
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Draw a ray diagram to show the formation of a virtual image which is smaller than the object
formed by a lens.
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Two point charges of + 4.0 x 10 ® C and -3.0 x 10 ® C are 1m apart. (a) Find the electric
potential at P midway between the two charges. (b) Find the work done in bringing a charge
+3.0 x 10 ®° C from infinity to P.
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The capacitance of a capacitor (C) is the ratio of the charge (Q) to the potential difference
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Q - A galvanometer has a resistor of 2 Q and gives a full scale deflection when a current of 1
mA flows through it. How can it be converted for use as (a) an ammeter reading up to 10A,
and (b) a voltmeter reading up to 50V?

Re=2Q, i=1mA=1x10°A, I=10A
Let r be the resistance of the wire to be connected in parallel with Rg.

] 1x1073 _
r = —R;=———x2=2x107*Q
10—-1x10

Let R be the resistance of the wire to be connected in series with Rg.

R = Z-pR,=-—2_-—2 =499980 =50 kO
i 1x10
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